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A knot diagra Cg €4 C9 Cip C3 C7r C11 C2
Ideals for irreducible component#ﬂ)f Xpar

If:<u43—u42+~-~+u2+1>

* 1 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIy=(u®—u?+4+...+u?+1)

(i) Arc colorings

w- (1)

ag —

ag =
u
as = \—ud+u
—u?+1
a10 = \y? — 22
—ut +u? 41
ut — 242

ud — 3u® +ut + 20 41
—ud + 4ub — 4u*

—ul? + 5010 — 7ud F2ut + 3w+ 1

a1 = \y'? — 6ulY + 1208 — 8ub + u* — 2u?

w3l — 1402 + -« +20u® + 8u3>

az = \ —u3t +15u® + ... —8u’ +u
u? —9ut® .+ 3w+ 1
a6 = \ —u??+10u® + - -+ — 10u* — u?
u?® —9ul® + . 4 3u + 1
a6 = \ —u?2 +10u? + .- — 10u* —u?
(ii) Obstruction class = —1

111 usp apes = —4u™ +80u”” +--- 4+ 8u +
iii) C Sh 4u*t + 80us? 8u+ 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs ut —u? 4 4 2u—1
C2 ut 190 4+ —2u -1
€3 u®® —3ut? + ... — 165u + 88
C4,C8,Co u +ut? - -1
Ce u®® +ut? o —3u—2
C7, €10, C11 u® —5u'? + -+ 52u — 7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs5 yB 419y — 2y —1
62 y43+11y42+.._10y_1
€3 y? —21y* .. 4 171017y — 7744
C4, Cg, C9 y43_41y42+_2y—1
‘6 y*? +3y"2 + - — 163y — 4
€7, €10, C11 y* 4 47y*% 4 .. — 1090y — 49




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.450941 + 0.6866241

5.35054 — 9.107311

3.33084 + 7.840731

= —0.450941 — 0.6866241

S
|

5.35054 +9.107311

3.33084 — 7.840731

e
|

= 0.463007 + 0.6756141

7.17544 + 3.780291

6.09678 — 3.296941

= 0.463007 — 0.6756141

7.17544 — 3.780291

6.09678 + 3.296941

—0.512233 + 0.6375781

5.58121 4 4.702761

4.01683 — 1.907681

—0.512233 — 0.6375781

5.58121 — 4.702761

4.01683 + 1.907681

= 1.180680 + 0.0704741

—0.12031 + 3.397081

—1.05977 — 4.648821

1.180680 — 0.0704741

—0.12031 — 3.397081

—1.05977 4 4.648821

0.496416 + 0.6488001

7.30167 + 0.616671

6.46762 — 2.843161

= 0.496416 — 0.6488001

7.30167 — 0.616671

6.46762 + 2.843161

glelg|e|e|2|e|
|

= —0.447772 + 0.6323321

1.69784 — 2.067171

0.16713 + 3.296981

= —0.447772 — 0.6323321

I~
S

1.69784 + 2.067171

0.16713 — 3.296981

u = —1.25034

2.53757

3.48810

u = —1.304990 + 0.1710721 1.15199 — 1.780641 0
u = —1.304990 — 0.1710721 1.15199 + 1.780641 0
u= 0.206694 + 0.6057491 —2.00685 4 5.688431 | —2.34470 — 8.729511
u= 0.206694 — 0.6057491 —2.00685 — 5.688431 | —2.34470 + 8.729511
u = —1.356100 + 0.2159271 2.91900 — 8.672001 0
u = —1.356100 — 0.2159271 2.91900 + 8.672001 0
u= 1366840+ 0.1855741 5.03487 + 4.10356.1 0
u= 1366840 — 0.1855741 5.03487 — 4.103561 0
u= 1.403260 + 0.1184321 6.22218 + 2.774861 0
u= 1.403260 — 0.1184321 6.22218 — 2.774861 0
u = —1.411730 4+ 0.0748721 5.35002 + 1.819911 0
u = —1.411730 — 0.0748721 5.35002 — 1.819911 0
u= 0.089033 + 0.5752991 —3.14805 — 0.904821 | —6.51420 — 0.218461
uw=0.089033 — 0.5752991 —3.14805 4 0.904821 | —6.51420 4 0.218461
u = —0.221219 4 0.5233941 0.01425 — 1.497371 1.74832 + 5.315061
u = —0.221219 — 0.5233941 0.01425 + 1.497371 1.74832 — 5.315061

= 0.504381 + 0.1911571

e
|

—0.50303 — 2.820961

3.24990 + 2.852281




Solutions to I} V—=1(vol + /=1CS) Cusp shape

u = 0.504381 — 0.1911571 —0.50303 + 2.82096.1 3.24990 — 2.852281
u= 147320+ 0.229681 7.89812 + 5.225101 0
u=1.47320 — 0.229681 7.89812 — 5.225101 0

u = —0.353298 + 0.3511621

0.686131 — 1.0387601

5.50415 4 5.160991

u = —0.353298 — 0.3511621

0.686131 + 1.0387601

5.50415 — 5.160991

u= 148315+ 0.247771 11.6071 + 12.51881 0
u= 148315 —0.247771 11.6071 — 12.51881 0
u = —1.48567 + 0.241341 13.4835 — 7.12711 0
u = —1.48567 — 0.241341 13.4835 + 7.12711 0
u = —1.49208 + 0.224101 13.7502 — 3.79321 0
u = —1.49208 — 0.224101 13.7502 + 3.79321 0
U 1.49455 + 0.216151 12.09380 — 1.604531 0
uw = 1.49455 — 0.216151 12.09380 + 1.604531 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢s u® —u*? 4+ 4 2u—1
C2 u® 190 4 —2u—1
€3 u*® —3u*? + - — 165u + 88
€4, 8, Co ut Fut? - -1
6 ud +ut? 4 —3u -2
C7,C10,C11 uB —5ut 45207




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs B 19y -2y -1
C2 Yy 11y 10y — 1
€3 y* —21y*? 4. 4 171017y — 7744
C4,Cs,Cy B A4y 2y -1
C6 y*® +3y*? + .. — 163y — 4
€7, €10, C11 Y3 4Ty ... — 1090y — 49




